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29.4.3 Biology Paper 3 (231/3)

Thr piW't.igruphs. hbelled K , I,. M. N ;snd P below are > >■ H. 
Foi v. i.11 nf the hones K.  L  urnl M two views are shown.

r u i n e d  f rom  a m a m m al -

View I View 2
Bone L



Identity the bones and name the part of the mammalian body l:rom which each was 
obtained, (5 marks)

Identity  of the b o w W here found

K

L-

M

IN

p

Name the parts labelled 1., 2, 3, 4 and 5, (5 marks)

2

4  ............... ;.............................................................................. ............ .......

5  ..... ..................... ....... .......... ........ ..........

Name the bones thaHorro a joint witli bone K at its anterior and posterior end and in 
each case name die type of joint they form  (4 marks)
Anterior end

(i) Bone(s) ................... .................................... ............................................ ... .

(ii) Type o f joint .... ....... .................... ......... .................... ..................................................

Posterior end

(i) Bone(s) ......................... .................................................... ...........

(ii) Type-ofjoint .................. ....... .......... ........................................... ...... ....................

State the function of the structure labelled 6 in bone P. (I mark)



v. -.i.bs'.anees inheHed Is, Q, X, Y and /,. P and Q ;yc food snhsmriccs,
• ::fowhk>rtc acid, \  ss> dilute scxlruin hydrojjencarbariaur iind Z . I ’viw d icfs  

out lui.tb to detemiinc die food sid^lajicijbsi in P and O
( j 2 marks)
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Thu pnuioeraph;* labelled W, X. V and Z riium seedlings. (Ik?! were grown under different
LV>ndmo!s.s. bXiimme Uiem.

Z

Label any three parts ot the seedlings in photograph \V (3 marks}

lit Name the cype of germination exhibited by the seedhngs. CI mark)

in) (five a reason for your answer 111 bn) above. i\ mark)
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(c) Seedlings in photographs W and X were planted at the same time, 

State the conditions tinder which the seedlings were grown, (2 marks)

'  A ' \
\  v i  ,r

(e)

(0

Seedlings in photograph W  ...... ..................... .............- ...... ........... ....................... ..................

Seedlings in photograph X ... ........... ................. .........•...... ......... ........ ...............

When plants are'-grown in the condition named for seedlings in photograph W ,
they exhibit a certain phenomenon,

(i) Name the phenomenon. ■ (1 marie)
(ii) State die sipifieanee of the phenomenon named ind(i) above. • ’(l-mark) '

Using observable features only state three differences between the seedlings in 
photographs W and X; ■ (3 marks) •

Stt-dlmgs in photographs ¥  and: Z were planted at the same time but under different; 
conditions. Explain how l i e  response exhibited by the ■seedlings in photograph Z  , 
occurred, - \  ■ - (2 m arks),;1
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